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Jr. Inter |A Model Paper

Section A 10x2=20
1. N is the set of natural numbers. Is the function f:NWdefined by f(x)=2+3 onto Explain
the reason ?

N Seas Sogregiond o8 3 @Bdabo Hopigdr? s°8po ddoHod ?
2.1 = {(1,2) (2,—3) (3,~1)}then findvf.
f={(1,2) (2,-3) (38,—1)}0& Vf & E38% 084 ?

3. If and

then find the vectapd 2 $&¥% 8K8% 087

4. If each of Is perpendicular to the sum of the other two vectors, ther

find the magnitude of ?
58 36 NS Botkh S8 0a°R8 00T GOE a+ b+ OO HBSTTR) E8% 08
o

5. Find the value of s#82" - —sinf22" - ?

2 e Dendd 8385087

6. Prove that tanh (x-y)=

tanhx — tanhy
1- tanhx .tanhy

7. Prove that

Om o[B8 5 mQ g, «
COth_oHCOtHE)HCOEE(ECOE?(B 00@72&— 29 HeHod ?

8.ABCDE is a pentagon. If the sum of the vectors

9 FeH0d ?

D ende werdorr A & 858% 08 ?
9. If wis a complex (non-real) cube root of unity then show that

1 w o

w W =0

1
o 1 w

D Qe "mé& 9 J&eHoH0&?

www.sakshieducation.com



www.sakshieducation.com
02 1C

O C
10. IfA_EE OE and
S

B:ELZ 3 1E then find

U4 0 2C
2A+BT and 3B-A?A, B dende wardore 2A+BT 3BT-A Denden §K8%06?

Section-B 5x4=20

11. |If n then show that

9—(p=E
0 cos®  co® sidC
HosHsi®  siAB

0 il
0 Cog? co® SmpD:O 29 HBeHod ?
cospsing  sidg

12. INAABC (&sHhes0&® If O is the circumcented8o(cso, H is the orthocentepoedo(cso
&, then show that
) OA+0OB+0C= OH
i) HA+HB+HC =2HO ®©Q o0& ?
13. If A+B+45 & then prove that
) (1+tanA) (1+tanB)= 299 #5508 ? and hence deduce the valuedl &0 tan 2215263

Teeéod ?
14. If tan frcoD)= cot (sinB)=a then prove that

o 1
- =+ A 9
coﬁs 4E|_+3/§ e9Q BIH0G ¢
15. If »& then prove that

2

p_-@_cosa +i: sifa 9 $eR087?

a® ab o}

16. INAABC (&gHz208° show that

(b-c)? co§%+ (b+ c¥ siﬁ%: 4 99 [Hos?

17. For any four vectorsa,b,c,den Q3T Jrenid SdFen 08
(ax b)x (cx d)=Ha,c,@ b Hb,cd and (axbyx (cx d)= Ha,b,@] e Habd e SrHoé ?
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Section-C
5x7=35
18. If f:A - B, g:B- C be bijectionsThen show that gofA - C is a bi jection ?

f:A - B,g:B- Ceo &¢Heaa airda gof :A - C &re Bqrhes (©H0Hab @l &
S0 ?
19. Using mathematical induction, Show tha#3:5-23"*1js divi sible by 17 for all aN ?
3.2+ 8n+1 {7 gb éﬁgéom ePAS0Y)H0ED FEeHod ?
20.A line makes angle®,,0,,0,,6, with the diagonals of the cube. Show that 2dhs co¥
0,+cog 6,+cos 6,= 4/3 ?

&8 O $& (K0 Trenth sored® 0,,0,,0,,0, o D cogh,+ cog 0,+cos 0,+cos 6,=
€9

4/3e9 LeH0E& ?
21. IfA,B,C are angles in a trianglé¢hen prove that

A . B .C
sin—+ sin—+ sin—
2 2 2

=1+ 4sinn;A .sinn_ B .sir‘?T_ C

AB,C oo Bghe: §%5°88 P Dendosd JsTdoKod ?
22. In A ABC show that

aco§%+ bco§%+ ccds

E:S+é

2 R

S QenSod A&HoLod ?
23. show that

-2a at+ b c
a+tb -2b bt
c+ta c+b -2

= 4(a+ b)(b+ c)(c+ a

9 HHod ?
24. Solve the following simul taneous linear equations by using Matrix Inversion method.
3xX+4y+5z=18,
2x-y+8z=0,
5x-2y+7z=20

S @ DS o“acg@esﬁ 20 3088 JeoB0s ?
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